Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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ROOM 2

090 parapet wall

RCC slab
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PART - B
a. List and explain briefly various types of estimate.
b. Write a note on cost of materials.
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DETALLS OF OPENINGS

D 090 x 210
D1 075 x 210
V 060 x 0.45

(11 Marks)
(04 Marks)
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The detalks of man hole is as shown in Fig. Q3. Estimate the quantitiesfor-the following
item of work ( 7
Earth work-excavation in foundation
Cement cénurete 1:3:6 floor and foundation
First class B}féfk"i}fork with CM.1:4
20mm thick denen
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ergg specifications for any three of the following :
urnt Brick masonry in CM 1:6

Mosaic or Terrazzo Floor

Painting work
Earth work excavation. (15 Marks)
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‘\\ > A PART - C
Carry out rate analysis for any three of the following :
PCC (1:3: 6) for, foundations using 20mm and down size aggregates‘
First class brick. masonry for super structure is CM1:4
12mm thick plydf eri

20mm thick DPC

(15 Marks)

Estimate the quantlty of earth work for a portion of road V\ka om the following data, using
mid sectional area meth d: Formatlon width = 4m ; side’ slopc 2:1 is filling
> s@é“slop’e 1.5:1 is cutting

Chainage m > Q-0 40 80 12(‘\ 2160 | 200 | 240 | 280
RL of ground m 100.6"| 100.2 | 99.8 100.2:1.100.8 | 101.9 | 102.4 | 102.5
RL of formation level | 101.0¢ | Raising gradient?‘llft(\}’ i T prem—— =y,
N VAV (15 Marks)
X

Write a note on any three of the follow ng

EMD and security deposit

Technical sanction

Measurement books

Method of valuation. (15 Marks)
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